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a) SKIFH BUARGR VLR 3 5) 52 2 AR IEAR (Homogeneous Solution) 95 , —fid P2 UL L Ak 2

ib:h#%?ﬁ&ki?ﬂﬂkﬁ; TR B R AR P PR AT 2 SRARRY , RO ARk B 2 sl /s (1) B2 (29), 3L
BB &(2) FiE(3%)

(b) RAFHPRUH RN M B B sy 75 78 Z BF BRI (Particular Solution) 2 75 15H8 2 2 (3) 51k (2%).
(e) X?¥"4+ XY'+ (XX - )Y =0
LM AR S HERFERL (Bessel’s equation), B v SEMIF, EMZ R4
(4)(2%), X B v S IER BT, KR 2 TE R 28 (5)(2%)
(d) X2¥" 4 XV~ (AXT 4 03 =0
LV R 2 Ak B A7 20 (Modified Bessel’s equation), B v Sy BB, AR —
AR 2045 (6)(2%), X8 v RIFRERIG , KA 2 204 (7)(2%)
(e) SRR HFHE ABT S
(1) R A HE M B ot 2 I il 5 R (B |JHJ@EHHH"—FM Bocly Diagram) @J‘Jﬁf’% (5%)
(2) FURI AL =GR IR %48 2 (H IR e B (Transfer funclion of the system)G(s) B A IEBATT

(Genera.lized Irpedance of the systein)Z(s).(5%)
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2. (26%) The velocity vector feld for the two-dimentional flow of a fluid around a cylinder is given
by
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where A is some posttwe constant. |
(a) Show that when the point (z,y) is far from the origin, Fx AT

(b} Is the flow irrotational?

(c} Is the low incompressible?
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3. Find the determinant SR
{(a) (10%) without expanding tlie determinant :
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